Si6fE1H31HERAE

E A e U % t}g % mgj iy L ) LA || Lk AT RS, A ?gﬁiﬁf mEE | mER
= AT w | % &F IsfE BT DD E
| |ammeanEs smaon || ase| 2 ofsssl| | toi o Betom | mRm |0
2 |mpannte HEA6 Re| 3575 2| ofsss| || 1.0 o Bezot | mRm | IR
3 |hTRA—ILDLIER k45060 RC 2,580 3 S53| 1 0.4 & @] - 45 mREp Hhigi % 1% R
4 | DK IEXERETILR EE2-8 RC 6, 094 2 H2 | #7 O % - T BER hREERE
5 |FkakEE Bas-13-5 | Re| 1,034 1| ose3| % o o wrE |
6 [o<iEnES HE1-10-1 Rl o130 4 H6 | % o % - 15 TES | Xk

. = AL R
7 qy RqA EHE1-10-1 SRC 32,902| 12 2 [S55] 1A 1. 86 @] LE = mRER ’3(;32"7_&‘&
8 |eEkES BH1197-20 Rl tsaal 1| o|sss| & o % - i LT
0 |mmmaEm B! Rl vasl 1| ofser| # o wet | omRa |CNUEE
10 [RGB A KETR H 514771 Rl 2008 1| ofsso| o wezow | mrm SN JEE
1" iﬁﬁiﬁm_ HRE1-10-4 RC 2,720 2| o|sss| % o - 48 DRE | mame
12 |5hBLTSY w26l | RS 3330 3| ofwi7| # o H-Tot | HREH | wExER
13 |meRasEs 484262 s a0 1) ofss2||m| 0.33 # o e mre | NER
1 |RERohELEE H51197-20 RC 2878 2| o|sss| | 0.77 o & HEH | hExiEse
15 TR LCSEE N8 Re| 5152 4| ofsso| % o B 8 WRE | bE%iER
16 |SEEAL S smara1s | Re| 2588 3| ofseo| # 0 % - i TRE | maxEs
17 |tz 49— %1036 —2 RC 884 2 S45( 1B 0.16 & (@] 15 R higi % 1R ER
18 |MEXKES— ME3—19-2 RC 820 2 S53 | 1B 0.79 @] i mRER hig X IR ER
19 |HARZFE 2 — R4 —2—1 RC 820 2 S63| 1 1.19 (@) 5 mERER higi % 1258
20 |ERXRFEzV2— ZE[Rb5386—2 S 534.4 1 S55( B 0.39 & O i HRER g 37 1R 5
21 |GRX#EEY2— TIaE410—167 S 588 2 S57| # O & HmRE Hhigi X iR R
22 |mRRFEEE2— WH4—16—3 RC 819.9 2 S56 | 1B 0. 62 (@] i HRER g % 1R 5

1/4R—2




£ O Hh D E%

SH6%1A31 BB
2 R [
=n E = ﬁﬁ‘f%ﬁ?ﬁ == =) TN & %EE%%%
2 T maw (e TRES | L B x | B opg WEMEC) BEMO ) BESH- ZESO | gewons | mes | mes
= B2 W% | F | IsfE bii Ok E ]
=
23 |ZoEEHELE— —oE4—6—2 |RC 828 s61| % o i WRH | HEEER
24 |BAXHREL S — HH2-36—1 RC 826 S61| o & TRE | EXER
% |BERRELE— B4784—30 RC 867 HI | % o i WRH | HEEER
26 |/NEJIIZSEE 2 B — fEEF477—1 RC 1,201 HO | % o & TRE | EER
27 |EBRRE L — =58790 S 729.8 s55| 18| 014 # o & TRE | EER
28 |HEERE S — 345060 RC 1,420 Ha | % o & HRE | iR
29 [YRFFRHITT BERiEE (K<F2339 RC| 15762 4 H5 | % o B ZOM | EFBEH |v27rRoT7
0 [YRFFRITT (@it s—|ERE2TI-12 RC 2,582 59| % o) ot | EEBEm |TIA7TT
3 [$RFFRHYTF  |[EkmEmm| LR RC 715 s52| 1B | * * | WLAEREREL| TOM | EEBRES |vx7raoTr
32 [YRFFRHITT  |RELEER| LR RC 1,011 ss4| B | & * * B TOM | EEBEE (vR7rR0T7
33 |yz7¥rrozy V7R ke SRC| 6,091.83 RT | % o H31. 4. 1§ TR ZOM | EERES [s2772017
3 | o< EAEYTIA—L EHR1766 R 5,233 HIT| % o zot | wEmEn | 2SEXEY
35 |ch Bk EE4-3-1 RC 1,629 s48| 18 * o H16_ifi it A Y Ot | ETFKER |kEsmess—
36 |EHERkS $EDH3-50-4 | RC 2,793 Hi4 | % o Zot | ETKER |[kessess—
37 |BBEEKE £ B306-3 RC 142 S62 | # (@] Z 0t EFKER |kEwgtrs—
38 |FAEPERIKIS HEYD2-44-1 | RC 1,020 H14| % o Zot | ETKER |[kEssess—
39 s %E RC 1,318 s54| 1B | 0.85 o RS
LR AR1333-1 BER |weuEwRA
4 7P HELE S 550 $60 | % o i
wE RC 454 35| 1B | 0.47 * x
(IB%:&)
LU O =~ 0t
ukEmTIER S #1002 RC 750 55| 18 | 1.12 o) BAI5E BEER
(Fie&)
42 ELE W 610 s62| # Zoth
43 %E RC 1,703 3 s54| 18| 0.57 * x H254 B et &
—— (B Wn/heE wLA913 T -
44 hELE S 564 s62| o i

2/4R=




£ O Hh D E%

641831 BRAE
i i | | cimmes
zn E = ﬁﬁ‘f%ﬁ?ﬁ == =) TN & %EE%%%
2 TR T maw (e TRES | L B x | B opg WEMEC) BEMO ) BESH- ZESO | gewons | mes | mes
= B2 F | ] IsfE bii Ok E ]
5 | % %
45 e RC 2,500 3| of W | o £
—— (18) HEKL/MER 7K=7620 BER BEERZR
46 0753 S 776 0| S57 | #r @) &
47 ne R 2273] 3| olsso| B8] o0.66 o Zott
— (IB) FRNFER E#21400 BEES EFRIRER
48 hEE s 658 0|ss6| 1|8 | 0.42 * x H304E:3 A ekt zott
49 BR& RC 2,109 3| o0fs52| 1B | 0.49 * x H304E3 A Btk 5
| (1B) B3N 71200 BER | HEHRE
50 thEE s 732 0| 57| % o i
ne RC 3,041 0|s53| 1| | 0.58 * x H304£:3 A ek
(18) db&/hER 641077 BER BEERR
thEE s 875 0|s55| 1|8 | 0.51 * x H304E3 A ekt
caity RG 1,208 0|s49| B | 0.78 o
51 e SN RC 554 0|ss0| 18| 0.78 o 1
(IB) /BN e NS0T BT E e
@y RC 770 0| 561 % o
52 hEE s 646 0|s56| 1|8 | 0.51 * x H304E:3 A ek S
coiTy RG| 2,089 o|sst| 1| 042 * x H30 43 A BEk
e e N . A HFIER
() fEngE | (BB ee1e RC 529 0| 57| % o smstEs |V
e s 643 0|s51| || 022 * x H304E3 A Hekk
3 RC 825 2| o|s46| 1| 0.65 o
(ARE) ) e
53 Fros b
() wRNeR | (S EReT7 RC 751 3| o|ss5| || 0.40 # o BT watE
54 e s 657 2| o|s57| % o 1
wE 5 e
55 Gy RC 2.817| 3| ofsa2| | 0.37 * o 5
=y .
pha s 252| 1| o|sa2|m| o5t * x H304E3 A i
Z (B) g [ | qgg g BT il
56 hEE RC 1,683 2| o|Hi6| % 1
57 i RC 655 0| Hi5 | % 5

3/4R=




BZO/MDRESR Sf1641 831 BEE
7 i | o -
e 2 | ™| s | - s e BrREnS
2 T e |ws| TRER | o | L | B ong |WEHEO) WO | WREN - KER0 | senons | mas | mew
= B2 | a | Fl: IsfE bii Ok E ]
35 RC 1,012 3 sa2| | 03 * o
e ’ . -
RZ) .
58 oS 5
X = s
o RC 2058 3| o|s43| | 033 *
s O @ Be " e . BCHEER
59 |ty —ki—s | B2 a0 S 24 1 s43| 18| o019 * x H304£3 B Bt i e | SRR
60 hEE s 1,392 2| o|lses|m| 035 * i
61 Hitig s 579| 1 He | % i
62 |EHYHE me |E#2103 S 204| 1 ss5| 18| % A Z0k wER | wEkE:
63 [HRA—ILOI=~ AEEATI Re| 3.435.48] 2| o|ss3| || 0.79 0k HEE | hEsiEE
64 |l < MADK AE40-2 RC 699.6| 1 H3 | % o & HRE | hExiEe
65 |HEFELY 5 — 1214771 W 578.7| 1| o|Hi2| g & gup |TELEEE
66 |m & Ut LsaE SMEMOERIE | 1 0p9.0 2 RS | % o 8 CELE |crbEmE
67 |BisgHE Ha |Z1873 W 22| 1 ss2| 1B | 0.15 * x Rﬁgﬁggw';%ﬁ* 2ot YBER | HEmRE
SR Be  |Fmisus s 720 1| ofsss|im| o * x BRIk wER | wEnnsE

4/4R=




